Mathematics 6

Items to Support Formative Assessment  

Unit 2: Ratios and Proportional Relationships
6.RP.A.1 Understand the concept of a ratio and use ratio language to describe a ratio relationship between two quantities.   
6.RP.A.1:  
Draw a picture that illustrates a 3:2 ratio of squares to circles.  You need to include more than 5 shapes in your drawing.  (Extension: Draw two different pictures that illustrate a 3:2 ratio of squares to circles.)
Potential Solutions: 
Square, Square, Square, Circle, Circle, Triangle
(Extension: Square, Square, Square, Square, Square, Square, Circle, Circle, Circle, Circle)
6.RP.A.1: 
 Use a Frayer Model to describe you understanding of a ratio.

Sample Response:
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6.RP.A.1: 
List as many ratios as possible that are represented with this tape diagram:
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Possible Solutions:

Part to Part Relationships:  3:4, 4:3

Part to Whole Relationships:  3:7, 4:7

Whole to Part Relationships:  7:3, 3:7

6.RP.A.1 Task: 
The Baltimore Orioles Stats for 2014 Regular Season (http://espn.go.com/mlb/team/stats/batting/_/name/bal/baltimore-orioles)
	Name
	At Bats
	Home Runs
	Strike Outs

	Nick Markakis
	642
	14
	84

	Adam Jones
	644
	29
	133

	Matt Wieters
	104
	5
	19

	Chris Davis
	450
	26
	173

	Manny Machado
	327
	12
	68


Chris Davis had a great season. 

· Write two ratios using Davis’s statistics. 
26:450 is the ratio of home runs to at bats. 173:450 is the ratio of strike outs to at bats. 26:173 is the ratio of home runs to strike outs.
· Daquan estimated that for every 20 at bats Matt Wieters had, he hit one home run. Do you think Daquan is correct? Use your knowledge of ratios to support your response.
Daquan is correct because he looked at the ratio of home runs to at bats for Wieters. He rounded 5:104 to 5:100. When you simplify [image: image4.png]


, you get [image: image6.png]


. That means that Wieters hit 1 home run for every 20 at bats he had.
6.RP.A.1 
During the 2012 season, the Orioles won 58 games by 2 or fewer runs.  The Orioles’ record for the season was 93 wins and 69 losses.  
· Write the ratio of games won by more than 2 runs to games played.

35:162
· Write the ratio of games won by 2 or fewer runs to games won by more than 2 runs.

58: 35
· In 2011 the Oriole’s record was 61 wins and 101 losses. Write the ratio of games won in 2012 to games won in 2011.

93: 61
6.RP.A.1 
Matt Wieters, catcher for the Baltimore Orioles, had 526 at bats.  During the season, Matt 131 singles, 27 doubles, 1 triple, and had 23 home runs.
· Write the ratio of total hits to at bats.

91:263
· Write the ratio of home runs and doubles to singles.  

50:131
· In addition, Matt struck out 112 times and walked 60 times.  Write the ratio of strike outs to total hits.

8:13
6.RP.A.1: 
During the regular season, Dashay made 64 free throws and missed 48.  
1. Write the ratio of made free throws to missed free throws in three different ways. 

2. When Dashay’s team went to playoffs, she made all 8 of the free throws she shot. How does this affect her overall ratio of made free throws to missed free throws?

Possible Solutions:
1. 64:48; 64 to 48; [image: image8.png]18



;  4:3; 16 to 12; [image: image10.png]


; etc.
2. If Dashay makes all of her free throws in playoffs, her total made shots is now 72 but her missed shots is still 48. So her overall ratio of made free throws to missed free throws is 72:48; 72 to 48; [image: image12.png]=
I



;  3:2; 18 to 12; [image: image14.png]


, etc.
